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BAL BHARATI PUBLIC SCHOOL
GANGA RAM HOSPITAL MARG

NEW DELHI
CLASS-V CYCLE: FIRST
SUBJECT: MATHS ASSIGNMENT NO 3

TOPIC : SUBTRACTION
Q1.Fill in the blanks :

(i) 765408 -0=__

(i) 23948 -23948 =

(iii) 7648- =7648
(iv)54965 — 7248 =47717; here the minuendIs __ and subtrahend is

(v)64520,64625, 64730 ,

Q2.Find the difference

a) 8020049-628017
b) 9000056 - 659465

Q3 Find the difference between 8605421 and 568491and check your answer

Q4 Find the difference between the smallest number of 7 digits and greatest
number of 5 digits

Q5 The sum of two numbers is 4765486. If one of the numbers is 276581 find the
other number

Q6 What should be added to 389647 so that the sum becomes 542685 ?

Q7 There were 876542 bags of sugar and 654285 bags of rice in a godown. The
remaining bags were of wheat. If the total number of bags in the godown was
2940326 find the number of wheat bags.
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